F1E FRIERERSF

1.1 #k

1. EERFHEX
50Hz 1200V 1500V

2. RERSKFHTHE

o

2. FEMRERRYD A

B
Pk

1.1



— ==

> 2

T SR E

v

==

(a) HARELRM (b) FAhrs
1.1
1.2.2
1. RiifEmss
1
1.2
CJo CJ10
0.1 0.2mm
7
%
(a) BN
1.2
1
2

:

)

(o) HFTHBM AR

Zith

/
i
%ﬂ

(b) #E%EBIR

----------

-------------

(d) ¥ Rl

E
CJ12 CJ12B



FRRERR

=

1

%\-

dodgd

1.3

D,

—— #ik

B

= |, o

8

20 O

1174 I I

1.3

S

X

@Zm

A

[
Py Y
N

m 1
S .@.@0
E 1
m2
E .m..m.
S I 3
S
E
S
~N
~N
(e
S
<
_ K
)
: s K
S £ S
~ S
.@.m M __2
0 s S
K
EES
S S

qjm

1.4

ficr

1.6

1.5

=

o=

[T
[

FrEE

-a &

3 4



T SR E

| J 3 2 J
g :ﬁﬁ
gﬂ ﬁ 155 ﬁ i |0y P ﬁ
a b c
1.6
3
1
Bfid I
| |
oL
F () F
g\ WSS
il ' ‘
[ ———— ]
1.7
2

1.8

> 4

1.7



N [7— Kmsa
, éx
é} N— RSl
A
/NN
1.8

1.9
1.10
7( A | % @
3 3

2

! !

— — 3— 4 5

1.10

%1%
1.9

FRIRERS
duadud

5 4



Iresessgsgs o rreessssssseees

e MM eEEssEEsSSEEESEEESSEEESSEEEEEEEEEE

2. HiREmMER

440V 630A

1

2

3

4

1.2.3

1. EMBNEERASH

1

127V 220V 380V 660V 110V
220V 440V 660V
2
10A 20A 40A 60A 100A 150A 250A 400A 600A

3

36V 110V 127V 220V 380V 24V 48V
110V 220V 440V

1.1

> 6



S E1E FERKERR
e ——— dddds
F 1.1 BRBEMIPAOERAELRN . BERREEMSERAS BB e
ERFRES fEmE Fhb S IEBFIS HTRE S AR
AC1
AC2 4
AC3
AC4 6
DCl1
DC2 4
DC3 4
5
1200 / 600 /
2. RinEMBNEERS
1 CJ10
CJ10 50HZ 380V 150A
36V 127V 220V 380V 110V 220V 85% 105%
105% 0.35
12 100 10 20 5
0.2 600 60 300
CJ10 20A
E
2 Cl20
CJ20 50HZ 660V 630A
CJ20
U
2 2 4 3
3 2 4 CJ20
3. EMEMBHNEERS
1 CZ0
CZ0 440V 600A
40A 100A 150A 250A 400A 600A

7 4



Iresessgsgs o rreessssssseees

---------

L L R R N N R N R R RN N R R NN NN

2 CZ18

CZ18 440V 1600A
40A 80A 160A 315A 630A 1000A

1.2.4

1. EFEMERRYRE

2. EREMANTERE

3. IEFEM S AYEIE RIR

380V

4. EFEMBRSILERBEE

380V 220V

5. IRIFEAXMNERBE~RERT

AC3
AC4

1.2.5

2. HE4%p

1

> 8



.......... F15 ERRERR

................... dodgd

1/4

1.3 gkihgy

S5A

1.3.1

1— 2— 3— 4— 5— 6 11—

9 <



T SR E R
BEEEE 400000 iiiesssssssssssssssssssssssssas B

1. BRIk RER

1.12

(a) T E gk s AR 2R (b) R HL L4k B 2R 2R P (o) HFrfubir (D) HHfhs

1.12
1
1 Iop
2 Lo
3 K Ki=l/lop 1
2

lop
2. HEE4kEF

KV
1.13

& |t

() e EgkrARLE (b) REEHEBLEE (O BN (O EFAMR
1.13

> 10



F15 ERRERR

.................. dddss=w
2
1
3. FE)4kAES
1.14
(a) HFIESEHERIO%LE (b BFME (O HIAMA
1.14
1.3.2
KT 1.15
T j @j< >T
a b c d
1.15
1. Bk ER BT 8] 4k FE 25
2 0.3 5.5s
JT3 JT18
3
2. ESMEEXETE) 4t B &S
1 JS7.A
1.16

11 <4



EEEEm
EEEEEEEm

THIR &

T s

=E=E====

HERR
— AT
- R

b

ALAF RIS EiReT

(. ‘11

1.16 JS7.A

1.17

1.17

JST.A

16

10

12

13
15

12

10

10

12

16

15

Yy

\-

Vi

|1
12

-
=

Ny

14
7—

[\

NI,

15

8—

6—

4—

2—

15 16—

13—

12—

10—

1.17 JS7.A

> 12



......... F15 ERRERR

EEEEEEEEEEEEE e ddda=w
2
3
3. B EhRA AT E) 4k 2R
1
2
JS11 JS17
TPR
3
4. FETTBTE) 4k 2
1
1.18 JS20
Ry {%
Ry
Ry
X K Rei [« [JRs  [J&
o— ' ::C’lzS :| Ic I::|KA
2 \%| ) C—
—~ ‘E{ ? Rz[] b V3
L V2 l
a Iy
o >
KA || R ¢ | R [] Rs VT
AN N ot
NCAW T yUe Us uRS R G
I
1.18 JS20
RC
Ry Rpi Ry

13 <



T SR E

-l ===

Cz C2 U s < Up VF VT
VTH KA
G, KA KA G
Ry VF VT KA Ne
VF VT VT KA
KA
2
JS13 JS14 J515 JS20 ST3P JS20
ST3P
3 Ry
4 ST3P ST3P 50Hz
380V 24V
10° 10° 1.2
ST3P 1.19 ST3P 1.20
t ot
F 1.2 ST3P ZRF|AT(E) 4 B 38 F B AR LR
FilR= ST3PA ST3PG ST3PC ST3PF ST3PFT1 ST3PK ST3PY ST3PR
8-6
1
1-3 1-3 1-3 4-5
8-6 8-6 8-5 8-6 8-6
8-6
1-4 1-4 4-6
8-5
8-5 1-4 8-5 1-4
8-5 8-5 7-8
1-3

> 14



---------

F15 ERRERR

[ e —— dddw=w
e ST3PA ST3PG ST3PC ST3PF ST3PFT1 ST3PK ST3PY ST3PR
A 0.05 0.5s/5s/30s/3min
0.1 Is 0.1 0.5s
B 0.1 1s/10s/60s/6min
02 2s 025 2s
C 0.5 5s/50s/5min//30min 1 10s 0.5 6s/60s
0.5 5s 0.5 5s
D 1 10s/100s/10min/60min 2.5 30s 1 10s/10min
1 10s 1 10s
E 5 60s/10min/60min/6h 5 60s 2.5 30s/30min
2.5 30s 2.5 30s
F 0.25 2min/20min/2h/12h
5 60s 5 60s
G 0.5 4min/40min/4h/24h
110V 110V
50Hz 24V 110V 220V 110V 220V
220V 220V
24V 48V 110V 24V 24V
AC250V  3A
35mm

ST3PA ShErifirgd

AC200~220V
HLJR . YR | f
ST3PF AC100~110V
ST3PFT1. ST3PG
ST3PR

Eealby

AC100~110V

AC200~220V

ST3PK

1.19 ST3P

15 4



T SR E R

I L R R R R R N R N R R N N N N RN

TAERIEC- TEBEQ-) — ZI JE (0
- 1 . THEHIEC-T_ 1 A
R FAL ) T %W‘%(S“” 2772 FhL (347 7
SERT AL ‘ - éggﬁgj; L2 gnt e (8-6 _ 2741 T
. L A—FE I 41857 (85 IZA 7
et M 1-4> ZZ |2 P P
ST3PA L]
THEHERC-D T 7 ST3PC ST3PE
ER A (1) L D2 T - ) e 17 1
Eﬂa‘ﬁfﬂfﬁ 2 rZd YLl gEpt e (8-6) | WAV VA VL atia(7-8) a
FERT & (8-6) T2 Y2774 SERF M (8-5) L TT Wgent i al4-6)
SERT M7 (8-5)Z 22| Z g7 ON AA VA T gppg 4y ii0(4-50 7|
Sl el R o T VT T 1
(1-7) ST3PFTI1 hih +'=30~70ms
égﬁ;ﬂﬂg(z—w K/I 71 = i STIPY
55 (3-4) TAERIR(2-7)
SERT MW7 (8-6 AT 1 1 Egﬁﬂﬁma) eocod s
SERT P2 (8-5 T T )
B ne (8-5) t t
ST3PK ST3PG
120 ST3P
1.3.3
1. Ak IREYERFRIPERE
1.21
t
BB B

/ﬁ&%ﬁﬁ%%ﬁ@*ﬁﬁ

Vin

1.21

2. RYERHSEREIERASHMES

> 16



........ F15 ERRERR

............... ddda=w
JR20 JR36 JRSI1
JR20 CJ20
3. ABFNTIERE

1.22 1.22 2 3

4 5
9 6 9 7

11

5 4

8
Smin
2min 10

1— 2— 3— —
8— 9— 13—
4. THETHEARIPRY YR RS
D 1/:3

1/\3=+3/3

2/3 1.23

17 <



EEEEm
EEEEEEEm

THIR &

T s

-l ===

I EEEEEEEEEN

2/31

1.23

313

21/3

124 b

124 a

1.24

€

1.24

C

124 d

I
o = ®
SiEIEEIEEE N E
= ; i ; Ex ‘r; '
=] = 1M p
m ) il 5 M c
U ==
T~
g,
Refe OeAe dofo =

4—

3—

1.24

> 18



